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BUSINESS STATISTICS

Paper–BC–302

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory which

comprises short answer type questions of 4 marks each. Attempt four

quetions from remaining eight questions carrying 15 marks each.

dqy ikap ç'uksa ds mÙkj nhft,A ç'u la[;k 1 vfuok;Z gS ftlesa çR;sd
ds 4 vad ds y?kq mÙkjh; ç'u 'kkfey gSaA 'ks"k vkB ç'uksa esa ls çR;sd
ds 15 vad okys pkj ç'uksa ds mÙkj nhft,A

Compulsory Question (vfuok;Z iz'u)

1. (a) Explain relationship between Mean, Median and Mode. 4

ekè;] ekfè;dk vkSj cgqyd ds chp laca/ Li"V dhft,A

(b) Differentiate between Mean Deviation and Standard Deviation. 4

ekè; fopyu vkSj ekud fopyu ds chp varj dhft,A

(c) Explain Circular test of Index numbers. 4

baMsDl uacjksa ds ldqZyj VsLV dh O;k[;k dhft,A

(d) Write short note on Secular Trend. 4

/eZfujis{k ço`fÙk ij laf{kIr fVIi.kh fyf[k,A

(e) Define Harmonic Mean. 4

gkeksZfud ekè; dks ifjHkkf"kr dhft,A

2. Explain the functions of Statistics. Discuss the distrust of Statistics. 15

lkaf[;dh ds dk;ks± dh O;k[;k dhft,A lkaf[;dh ds vfo'okl dh foospuk dhft,A

3. From the following distribution, find out the missing Frequencies :     15

fuEufyf[kr forj.k ls] yqIr vko`fÙk;ksa dk irk yxkb,%

Class : 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Frequencies : 12 30 ? 65 ? 25 18



You are given that Median value is 46 and that total frequencies are 229.

vkidks fn;k x;k gS fd ekfè;dk eku 46 gS vkSj dqy vko`fÙk;k¡ 229 gSaA

4. (a) Explain properties of Standard Deviation. 5

ekud fopyu ds xq.kksa dh O;k[;k dhft,A

(b) From the following prices of shares of X and Y given below

State, which is more stable in value of calculating coefficient of

variation : 10

jkT; ds uhps fn, x, X vkSj Y ds 'ks;jksa dh fuEufyf[kr dherksa esa ls]
fHkUurk ds xq.kkad dh x.kuk ds ewY; esa crkb, dkSu vf/d fLFkj gS %

X : 20 18 21 23 25 24 27 30 29 28

Y : 21 25 30 32 26 25 32 28 27 30

5. Discuss the various Tests of adequacy of Index numbers. Why is Fisher’s

Ideal formula calleds Ideal’ ? Explain. 15

lwpdkad la[;kvksa dh i;kZIrrk ds fofHkUu ijh{k.kksa dh ppkZ dhft,A fiQ'kj ds vkn'kZ
lw=k dks ^vkn'kZ* D;ksa dgk tkrk gS\ le>kb,A

6. Prepare Index Number of Prices for three years with Average Price as base

from the data given below by Simple Average of Price Relative method

using A.M. : 15

,-,e- dk mi;ksx djrs gq, ewY; lkis{k fof/ ds ljy vkSlr }kjk uhps
fn, x, vkadM+ks a ls ewy ds :i esa vkSlr ewY; ds lkFk rhu o"kks ± ds
fy, dherksa dh lwpdkad la[;k rS;kj dhft, %

Rate Per Rupee

Commodities

Year A B C

I 4 kg. 2 kg. 1 kg.

II 2.5 kg. 1.6 kg. 1 kg.

III 2 kg. 1.5 kg. 0.8 kg.

7. Below are the figures of Production (in ’000 tonnes) of a Sugar

factory : 15
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,d phuh dkj[kkus ds mRiknu (*000 Vu esa) ds vkadM+s uhps fn, x, gSa%

Year : 1999 2000 2001 2002 2003 2004 2005

Production : 77 88 94 85 91 98 90

(i) Fit a straight line trend by the method of Least squares and estimate

the Trend values.

de&ls&de oxks± dh fof/ }kjk ,d lh/h js[kk dh ço`fÙk dks fiQV dhft,
vkSj ço`fÙk ewY;ksa dk vuqeku yxkb,A

(ii) What is the monthly increase in Production ?

mRiknu esa ekfld o`f¼ fdruh gS\

(iii) Eliminate the Trend by using both additive and multiplicative models.

;ksxkRed vkSj xq.kd nksuksa ekWMyksa dk mi;ksx djds ço`fÙk dks lekIr dhft,A

8. (a) Fit an Exponential trend y = abx to the following data : 15

fuEufyf[kr MsVk ds fy, ,d ?kkrh; ço`fÙk y = abx fiQV dhft,%

Year : 2005 2006 2007 2008 2009 2010 2011

Sales in `Crore : 12 10 14 18 20 24 30

(b) Distinguish between Trend and Exponential trend. 5

ço`fÙk vkSj ?kkrh; ço`fÙk ds chp Hksn Li"V dhft,A

9. Discuss the Ratio to moving average method and the Ratio to trend method

of measuring seasonal variations. Compare the two methods. 15

ekSleh fHkUurkvksa dks ekius dh vuqikr&ls pyrh vkSlr fof/ vkSj ço`fÙk ls vuqikr
fof/ ij ppkZ dhft,A nksuksa fof/;ksa dh rqyuk dhft,A
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